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< 44,617
Al 1,585,423
2B SIIBANE(ABESIISAY) 1,885,000 1,954,735 A 69,735
= 254,960
< 44,617
Al 1,585,423
230 UXNSHEAEBEZ(AMZIA) (20 81,460 147,671 266,211
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= 11,404
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= 9,545
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< 1,050
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307 glztol & 73,091 163,637 A 90,546
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FaRe = B Es NN 73,091
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10,232
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220 MXNEHBAEXZ(AMZZH)(ZHAERT) 95,780 192,244 A 96,464
76,624
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308 AHXIEHHMS0IE 1,535,437 1,368,202 167,235
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M ZHl AlHIRES 1,535,437
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101 14 Hl 30,863 16,403 14,460
03 RIAHAZ 22+ 30,863 11,999 18,864
oz ACIM(SRE) 30,863
- HOE &t
118, 1602 * 124 152 +106, 4002 * 1 + 15 3,369
-E-E P
1,538,940 1 *23| +1,412,940% 1 23] 5,904
- =&l 140,000& 2 122 3,360
- WsSEXH 50,000& x2H =128 1,200
- s 40,0003 x1H =12 480
- tolsg 30,000 x2H 123 720
- SclFdsE 10,000& »2H 123 240
- ¥24g
1,282,450% 12 235 +470,980 % » 1 23| 3,507
-d2=Y Jdt3 80,000& x1H 123 960
-4HEEES (MEERESZ) 6,960
- A2A2RE 4,163
Ab2 22 &2 M H O & (A 22 8 3 0122l AH) 68,369 66,578 1,791
2 54,695
< 9,572
Al 4,102
101 14 Hl 68,369 66,578 1,791
= 54,695
< 9,572
Al 4,102
03 RIAHAZ 2T E =+ 68,369 40,049 28,320
22 HAZIA(SREH) 68,369
-3=20 33,819
= 27,055
< 4,735
Al 2,029
-320 31,278
= 25,022
< 4,379
Al 1,877
-dlEa=s 3,272
= 2,618
< 458
Al 196
HWees 200,000 176,265 23,735
BHAUE (RIS (ABESIISAY) 200,000 176,265 23,735
=S HIBEZ(A=2013) 200,000 176,265 23,735
802 Btet = DI Et 200,000 176,265 23,735
02 Al - SHIEXSEHEZ 200,000 176,265 23,735
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